MP1
User Manual V1.1 2023.11




Catalogue:

PACKAGE lIST..urericreiercictctcetetescsesssssssssssssssssssssssssssssssssssssssssssssssssssssssssasssssssssssessassssassssasssssssssassssasessases 1
LI 110113 = £ 2
1.1 PerformancCe PAramMEter ... crneernerersessssessssssssssssssssssssssssssssssssssssssssesssssssssesssesssasssassses 2
1.2 APPlICADIE MOAEIS ...ttt sssesessssssssssssssssssssssssssssssssssssssssssssssssssssssssssssens 2
1.3 DIMENSIONS cuueecricricrricsnisissiissisissssessasissssissasisssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssesss 2
1.4 Installation diMENSIONS .......uciiiieciisicncisisiciisrcsssssassssssssssssssssssssssssssssssssssssssens 3
2Installation METhOd ... sssssssssssssssassssssssssassssssssns 4
2.1 INSTAI UFCTHHUDT ....cereseseennensensenensnssssssssssssssssssssassessssssssssssssssssssssssssssssassassasssssssssssss 4
2.2 INSAIl MEDTHDT aciisisicncnsisicnscnsisisnssssinsssssssssssssssssssssssssssssssssissssssssssssssssssssssssasssssssssss 6
2.3 Connect UFCTHHUDTHMEDTHDT ciciirininiscscnsncsssssssssssissississessessessesssssessssssssssses 7

3 AdJUSTMENT MELROd...eieeccrccrtcncscsrssrssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssss 11



Package list

2

2# 3# A4A# 5#
@ e @&
I Xx16 Xx8 x8

X8

—
<

(@ Supporting holder MP1 (1#)

@ Accessories (2#~5#)

1
1

2#

Hexagon Socket Head Cap Screws M5*55

3#

Plain Washers M5*10*%1

4%

Single Coil Spring Lock Washers M5

5#

Hexagon Nuts M5

® Toolskit (T1. T2)




1 Parameters

1.1 Performance parameter

@ 2installation method (Upright or upside down);

@ Initial installation adjustable angles: 50° of 80° .

1.2 Applicable models

Panels: UFC1 (or UFC1+HUD1), MFD1 (or MFD1+D1).

1.3 Dimensions

. 80mm — 96mm

L]

JDEEL

Mass : 0.48kg=1.06lb.

170~205mm




1.4 Installation dimensions

- 50mm -
Q
< 50mm —

R20

25~45mm*

—
[——

* Table thickness: 25~45mm.




2 Installation method

2.1 Install UFC1+HUD1

Ny







(@ Connect UFC1 and HUD1 as per HUD User Manual;

(@ Put the screws through the Z2 holes and fix the panel with MP1, please tighten the
screws properly, don” tover tighten them;

3 Clamp the MP1 holder on the table, just tighten the screw properly, don” t over tighten
it;

@ Connect the panel to the computer by a data (USB) cable, all holes unoccupied on the

holder can be used for wiring.

2.2 Install MFD1+D1

Please refer to Section 4.4 in D1 User Manual.



2.3 Connect UFC1+HUD1+MFD1+D1

* To connect MFD1 and D1, please refer to D1 User Manual.










@ Mount the UFC1+HUD1 to MP1 as per Section 2.1;

@ Connectthe MFD1 and D1 as per D1 User Manual;

(@ Put the screws through the Z2 holes and fix the panel with MP1, please tighten the
screws properly, don” tover tighten them;

@ Clamp the MP1 holder on the table, just tighten the screw properly, don” t over tighten
it;

(® Connect the panel to the computer by a data (USB) cable, all holes unoccupied on the

holder can be used for wiring.

10



3 Adjustment method
\

* This is the final version of the manual,all update will be made online.

BEE AR AREELR

WWW.WINWING.CN

INFO@WINWING.CN

High-tech International Enterprise Zone No.19 Building,Changshenggiao Road

11114, Pidu District, Chengdu,China 610000.

1


http://www.winwing.cn/
mailto:INFO@WINWING.CN

